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(1) Zdfri(v) WTHEOEKIZED v = 10 %
(2) Bl A58 (m)
mi = I'S%V = 33.8 N/uf
1 — & v
100
£->T m = 33.8 N/mf
(3)/kEA L FEE(W/C) m = -12.06 + 24.86 X C/W
W/C = 24.86 + (33.8 + 12.06) X 100 = 54.0 %
W/C = 54.0 %
(4) ALK E (W) YTHOEFEICEDY W = 174 ke/m
(5)HEfiEA L FE(C) C =W = (W/C) X 100 = 174 = 54.0 X 100 = 322 kg/m
Cv= C + #Pf = 322 +~ 3.04 = 106 £ /mi
(6) %558 (A) A = 4.5 % X 1000 = 45 £ /m
(7)MEM=E(s/a) VTHOERIZEY s/a = 48.6 %
(8) Al FEME(S) Sv = (1000 — (W+Cv+A)) X s/a = 675 X 48.6 % = 328 £ /m
S = Sv X KEEE = 328 X 2.62 = 859  kg/mi
SI1 = S X 50.0 % = 430 ke/m
S2 =S X 50.0 % = 429 kg/m
(9) HALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 653 = 347 £ /m
G = Gv X R = 347 X 2.74 = 951 kg/m
(10) HANZLIEFOAI £ (Ad) Ad = 2.51 keg/m
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